T8 FEMEYERMB—E

GRS
Ry |NRF| g HEE #E % i % | %8 | #mMEs
10 11 12
7 | ROl |WebTHAr+TOTSIL T MR (ANA) 4 1 1 4 30 120
7 | RO2 |DTP&WEBTHA4IfER (50 A) 5 1 2|30 60
7 | RO3 |DX-FURLHR (4mH) [20 A2 8] 4 11 8 20 160
7 | R4 |Python+Java?0sSv—ERE (51 A) 5 2| 30 60
7 | RO5 |FUALILTUVER-ITIV U= 7HEBR (50 A) 5 2 30 60
T | RO6 |AT4RYT-WebV!)ITA2—ERMF (5MA) 5 2 30 60
F | ROT |4 TARVTR+WebH 1 MlfEREER (450 F) 4 1 4 30 120
:5 T | RO8 |RybiavT-WebHAMEEFR(6MA) 6 2 30 60
Z_: T | RO9 |THAUEE+Web-SNSRF/ILEMF (6MA)[20AEE] 6 2 20 40
E; T | R0 |[EDRRIS=V2DE=OHDTIORANTLE T—av AF )LERHE (60 A)[20 A EE] 6 2 20 40
7 | R11 |ERALER+/VIVEBEBEE @A) 15AEA] 3 1 3 15 45
F | RI2 |PythonAIEEEH (6 B) (20 AEE] 6 2l 20 40
F | RI3 |FHAIUAIERER (50 8)[20AEE] 5 2|20 40
7 | R14 |Web*RIHK7 T (Java) BISEEEFR (650 A) [20AEA] 6 2 20 40
T R15 (V5T o= 7EBRERH (60 A)[20 A EE] 6 2 20 40
T R16 | T2V AMBERE (BHIESE 3~06 4 30 120
7 | R1T |FURLAMERR (BHERE) [20AEE] 3~6 1 6 20 120
A R18 |MEBEWEEERIHMER 2 A)[20AEE] 2 1 1 3] 20 100
A R19 MBS EEERTER (20 A) [20 AE & ][ g #] 2 1 3) 20 100
A R20 | EVEEERHMER +BEMFERT (3N A)[20AEE] 3 1 3 20 60
A R21 | EREVEEERER +NESHEESH BN A)[20AEE] 3 1 3 20 60
2 A R22 | EEEERTER +NMEFSAN—FHH (3MA)[20AEFEE] 3 1 3 20 60
% A R23 |MEREVEEERRER +EULAE - FREI—TFT+r—2—FEHE (3N A)[20AEE] 3 1 3 20 60
f'f 51 A | R4 [ EBEDEEERFHER FLIUI LA REILEEH (35 A) [20AEE] 3 1 4 20 80
&3

. A | R25 |frEfERtEBETHER (60 ) [20AEE) 6 1] 1 10| 20| 200
;\ A R26 |fr#EfmEitTEBREFUER (65 8)[20 A & ) [#hizh#] (ALER) 6 2 20 40
A R27 | EERALTERBTER (60 B)[20AF & ] [Hhish#2] (FhER) 6 2 20 40
A R28 | EEEULTEFRERER (65 H)[20N%E B ][ i) (FFER) 6 2 20 40
A R29 |[REAMERF (3MA)[20NEE] 3 1 3 20 60
A R30 [EAWLNEMFIXIREERMF (3NA)[20AEE&] 3 2 20 40
A R31 [FORIWEDRREEF (3MA)[20AEE] 3 2 20 40
A | R32 |FRTAIAUR AU THA—2aV RAYTERE (3MA) [20AEE] 3 1 3 20 60
A R33 |[EBZECADAARL—4—F(3MA) 3 1 2 30 60
A | R |BRLEKET+EEFRHECS KRB AN A)[20AEE] 4 2 20 40
A R3S |MEEXZEREEME (2HAI[I0OAEE] 2 2 10 20
E R36 |EEFFHE+OARER (3MA) 3 1 1 Ji 30 210
£ R37 |EEEF+OAEMRE (M A) [HhiZi#:] 3 1 3 30 90
g | F | RO8 EMBBAEXMHE (K/4-XERIT—0)BRH (UNA) 4 1 2 30 60
% £ R39 |EEHRE-FAFEHBE4GMA) 4 1 30 30
: = RA0 |#a7%-#ZIBEFER(3MA) 3 1 3 30 90
E RAT #8751 EHFH (3, A) [Hhigi#%] 3 1 3 30 90
= RA2 |BREZHFHERH(4MA) 4 1 3 30 90
£ | RB | AF-FHEEHESEBEAGMA) 4 1 2 30 60
£ | RM NNV ATIILEBEH (B A)[40@ L ELEDARR] 3 1 1 7 30 210
E R4S (/XXX IILEBRFH @A) [ERmEIEI[EBEI20\E&] 4 2 20 40
£ R6 |BEZEHE (3MA) 3 1 3 30 90
= | RAT |EHEYIRGITERE (B A) 40U EOAFRI[20AES) 3 1 2 20 40
E | R4S |T7AFUIvIITIUoF—ERE (A A) ERMIIBI[ER-NEI20 A E&] 4 1 2 20 40
E R49 |EEL-FP-EETRFI—F(3MA)[20AEE] 3 2 20 40




B8 A

xs (WS g |REE #E % s i | EA | #MES
4 6 1 8 9 10 11 12 1 2 3
F | D01 |WebTHAF+—RER (4N A) 4 1 1 1 3 20 60
| T | D02 |WebTHAL+TRTIIVIRERM (5HA) 5 1 1 1 3 20 60
=
& ; 7 | D03 |TS5T4vITHAURER (40 A) 4 1 1 2 20 40
% %: F | D04 |Python+AI7O4SSv—EBERK (5MA) 5 1 1 2 20 40
1:;{ - T D05 |[T—AY AT REREEER (5MA) 3] 1 1 2 20 40
A 5 | D06 |Web-ENEl-SNSHYIA5—EBEE (61 A) 6 1 1 2 20 40
i E 2 DO7 |#a¥%5-#ZEHEHFEEF (40 A) 4 1 1 1 3 20 60
%;i % | D08 |[BREEHITFR/I—FEBEH(GMA) 5 1 1 2 20 40
E | L0l | EEEUEERI—R(2F) %40—X(EBIFLK16A.14A.10A.8N) 24 4 4/ 8~16 48
fz_i . E | L02 |[RELERI—R(2HF) X73—X(EAIXF20A19A18A10A9A8A.6A) 24 )/ 7| 6~20 90
1;;; z Ed LO3 |BREERELIERI—X(25F) 24 1 1 10 10
53 %
7 E | L04 |#mEfEitERI—R(14F) 12 | 1 1 10 10
A
E | L05 |BEHIREHHE 12~24| 3 3 10 30
16/ 26] 16| 13| 15 15| 26, 14| 15 14, 16| 186 4,133




